Hindawi Publishing Corporation International Journal of Mathematics and Mathematical Sciences Volume 2008, Article ID 424320, 18 pages doi:10.1155/2008/424320

Research Article **Some Properties of** (r, s)- T_0 and (r, s)- T_1 **Spaces**

S. E. Abbas¹ and Biljana Krsteska²

¹ Department of Mathematics, Faculty of Science, Sohag University, Sohag, P.O. Box 82524, Egypt ² Faculty of Mathematics and Natural Science, Ss. Cyril and Methodius University, Gazi Baba b.b.,

P.O. Box 162, 1000 Skopje, Macedonia

Correspondence should be addressed to S. E. Abbas, sabbas73@yahoo.com

Received 5 May 2008; Revised 23 July 2008; Accepted 1 September 2008

Recommended by Petru Jebelean

We define (r, s)-quasi- T_0 , (r, s)-sub- T_0 , (r, s)- T_0 and (r, s)- T_1 spaces in an intuitionistic fuzzy topological space and investigate some properties of these spaces and the relationships between them. Moreover, we study properties of subspaces and their products.

Copyright © 2008 S. E. Abbas and B. Krsteska. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction and preliminaries

Kubiak [1] and Šostak [2] introduced thefundamental concept of a fuzzytopological structure, as an extension of bothcrisp topology and fuzzy topology [3], in the sensethat not only the objects fuzzified, but also the axiomatics. In [4, 5], Šostak gave some rules and showed how such an extension can be realized. Chattopadhyay et al. [6] have redefined the same concept under the name gradation of openness. A general approach to the study of topological-type structures on fuzzy power sets was developed in [1, 7–10].

As a generalization of fuzzy sets, the notion of intuitionisticfuzzy sets was introduced by Atanassov [11]. By using intuitionistic fuzzy sets, Çoker [12], and Çoker and Dimirci [13] defined the topology of intuitionisticfuzzy sets. Recently, Mondal and Samanta [14] introduced the notion of intuitionistic gradation of openness of fuzzy sets, where to each fuzzy subset there is a definite grade of openness and there is a grade of nonopenness. Thus, the concept of intuitionistic gradation of openness is a generalization of the concept of gradation of openness and the topology of intuitionistic fuzzy sets.

In this paper, we define (r, s)-quasi- T_0 , (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1 spaces in an intuitionistic fuzzy topological space and investigate some properties of these spaces and the relationships between them. Moreover, we study properties of subspaces and their products.

Throughout this paper, let X be a nonempty set, I = [0, 1], and $I_0 = (0, 1]$ and $I_1 = [0, 1]$. For $\alpha \in I$, $\alpha(x) = \alpha$ for all $x \in X$. A *fuzzy point* x_t for $t \in I_0$ is an element of I^X such

that

$$x_t(y) = \begin{cases} t, & \text{if } y = x, \\ 0, & \text{if } y \neq x. \end{cases}$$
(1.1)

The set of all fuzzy points in *X* is denoted by Pt(X). A fuzzy point $x_t \in \lambda$ if and only if $t < \lambda(x)$. A fuzzy set λ is quasi-coincident with μ , denoted by $\lambda q\mu$, if there exists $x \in X$ such that $\lambda(x) + \mu(x) > 1$. If λ is not quasi-coincident with μ , we denote it by $\lambda \overline{q}\mu$.

Definition 1.1 (see [14]). An intuitionistic gradation of openness (IGO, for short) on X is an ordered pair (τ, τ^*) of functions from I^X to I such that

(IGO1)
$$\tau(\lambda) + \tau^*(\lambda) \leq 1$$
, for all $\lambda \in I^X$,
(IGO2) $\tau(\underline{0}) = \tau(\underline{1}) = 1$, $\tau^*(\underline{0}) = \tau^*(\underline{1}) = 0$,
(IGO3) $\tau(\lambda_1 \wedge \lambda_2) \geq \tau(\lambda_1) \wedge \tau(\lambda_2)$ and $\tau^*(\lambda_1 \wedge \lambda_2) \leq \tau^*(\lambda_1) \vee \tau^*(\lambda_2)$, for each $\lambda_1, \lambda_2 \in I^X$,
(IGO4) $\tau(\bigvee_{i \in \Delta} \lambda_i) \geq \bigwedge_{i \in \Delta} \tau(\lambda_i)$ and $\tau^*(\bigvee_{i \in \Delta} \lambda_i) \leq \bigvee_{i \in \Delta} \tau^*(\lambda_i)$, for each $\lambda_i \in I^X$, $i \in \Delta$.

The triplet (X, τ, τ^*) is called an intuitionistic fuzzy topological space (IFTS, for short). τ and τ^* may be interpreted as gradation of openness and gradation of nonopenness, respectively.

An IFTS (X, τ, τ^*) is called stratified if (S) $\tau(\alpha) = 1$ and $\tau^*(\alpha) = 0$ for each $\alpha \in I$.

Let $(\mathcal{U}, \mathcal{U}^*)$ and (τ, τ^*) be IGOs on X. We say $(\mathcal{U}, \mathcal{U}^*)$ is finer than (τ, τ^*) $((\tau, \tau^*)$ is coarser than $(\mathcal{U}, \mathcal{U}^*)$) if $\tau(\lambda) \leq \mathcal{U}(\lambda)$ and $\tau^*(\lambda) \geq \mathcal{U}^*(\lambda)$ for all $\lambda \in I^X$.

Theorem 1.2 (see [3, 15]). Let (X, τ, τ^*) be an IFTS. For each $r \in I_0$, $s \in I_1$, $\lambda \in I^X$, an operator $C : I^X \times I_0 \times I_1 \rightarrow I^X$ is defined as follows:

$$\mathcal{C}(\lambda, r, s) = \bigwedge \{ \mu \mid \mu \ge \lambda, \tau(\underline{1} - \mu) \ge r, \tau^*(\underline{1} - \mu) \le s \}.$$
(1.2)

Then it satisfies the following properties:

C(0, r, s) = 0, C(1, r, s) = 1, for all r ∈ I₀, s ∈ I₁;
 C(λ, r, s) ≥ λ;
 C(λ₁, r, s) ≤ C(λ₂, r, s), if λ₁ ≤ λ₂;
 C(λ ∨ μ, r, s) = C(λ, r, s) ∨ C(μ, r, s), for all r ∈ I₀, s ∈ I₁;
 C(λ, r, s) ≤ C(λ, r', s'), if r ≤ r', s ≥ s', where r, r' ∈ I₀, s, s' ∈ I₁;
 C(L(λ, r, s), r, s) = C(λ, r, s).

Definition 1.3 (see [14]). A function $f : (X, \tau, \tau^*) \rightarrow (Y, \mathcal{U}, \mathcal{U}^*)$ is said to be as follows:

(1) IF continuous if $\tau(f^{-1}(\mu)) \ge \mathcal{U}(\mu)$ and $\tau^*(f^{-1}(\mu)) \le \mathcal{U}^*(\mu)$, for each $\mu \in I^Y$;

- (2) IF open if $\tau(\mu) \leq \mathcal{U}(f(\mu))$ and $\tau^*(\mu) \geq \mathcal{U}^*(f(\mu))$, for each $\mu \in I^X$;
- (3) IF homeomorphism if and only if f is bijective and both f and f^{-1} are IF continuous.

Definition 1.4 (see [16]). Let $\underline{0} \notin \Theta_X$ be a subset of I^X . A pair (β, β^*) of functions $\beta, \beta^* : \Theta_X \to I$ is called an IF topological base on X if it satisfies the following conditions:

(B1) $\beta(\lambda) + \beta^*(\lambda) \leq 1, \forall \lambda \in \Theta_X,$ (B2) $\beta(\underline{1}) = 1$ and $\beta^*(\underline{1}) = 0,$ (B3) $\beta(\lambda_1 \wedge \lambda_2) \geq \beta(\lambda_1) \wedge \beta(\lambda_2)$ and $\beta^*(\lambda_1 \wedge \lambda_2) \leq \beta^*(\lambda_1) \vee \beta^*(\lambda_2),$ for each $\lambda_1, \lambda_2 \in \Theta_X.$

An IF topological base (β, β^*) always generates an IGO, $(\tau_{\beta}, \tau_{\beta^*}^*)$ on X in the following sense.

Theorem 1.5 (see [16]). Let (β, β^*) be an IF topological base for X. Define the functions $\tau_{\beta}, \tau_{\beta^*}^*$: $I^X \to I$ as follows: for each $\mu \in I^X$,

$$\tau_{\beta}(\mu) = \begin{cases} \bigvee \left\{ \bigwedge_{i \in J} \beta(\mu_i) \right\}, & \text{if } \mu = \bigvee_{i \in J} \mu_i, \ \mu_i \in \Theta_X, \\ 1, & \text{if } \mu = \underline{0}, \\ 0, & \text{otherwise}, \end{cases}$$
(1.3)

where \bigvee is taken over all families { $\mu_i \in \Theta_X \mid \mu = \bigvee_{i \in J} \mu_i$ },

$$\tau_{\beta^*}^*(\mu) = \begin{cases} \bigwedge \left\{ \bigvee_{i \in J} \beta^*(\mu_i) \right\}, & \text{if } \mu = \bigvee_{i \in J} \mu_i, \ \mu_i \in \Theta_X, \\ 0, & \text{if } \mu = \underline{0}, \\ 1, & \text{otherwise}, \end{cases}$$
(1.4)

where \bigwedge is taken over all families $\{\mu_i \in \Theta_X \mid \mu = \bigvee_{i \in I} \mu_i\}$. Then

- (1) $(X, \tau_{\beta}, \tau_{\beta^*}^*)$ is an IFTS;
- (2) A map $f : (Y, \tau, \tau^*) \to (X, \tau_{\beta}, \tau_{\beta^*}^*)$ is IF continuous if and only if $\beta(\lambda) \leq \tau(f^{-1}(\lambda))$ and $\beta^*(\lambda) \geq \tau^*(f^{-1}(\lambda))$, for all $\lambda \in \Theta_X$.

Lemma 1.6 (see [17]). Let X be a product of the family $\{X_i \mid i \in \Gamma\}$ of sets, and for each $i \in \Gamma$, $\pi_i : X \to X_i$ a projection map. For each $\lambda \in I^X$, $i, j \in \Gamma$, and $\lambda_i \in I^{X_i}$, the following properties hold:

- (1) π_i(π_i⁻¹(λ_i) ∧ λ) = λ_i ∧ π_i(λ);
 (2) if V_{xⁱ∈X_i}λ_i(xⁱ) = α_i for i ∈ F with each finite index subset F of Γ {j} and put α = Λ_{i∈F}α_i, then
 - (a) $\bigvee_{x \in X} (\bigwedge_{i \in F} \pi_i^{-1}(\lambda_i))(x) = \alpha;$ (b) $\pi_i (\bigwedge_{i \in F} \pi_i^{-1}(\lambda_i)) = \underline{\alpha}.$

Definition 1.7. Let (X, τ, τ^*) be an IFTS, $\mu \in I^X$, $x_t \in P_t(X)$, $r \in I_0$, and $s \in I_1$. It holds that

$$Q(x_t, r, s) = \{ \mu \in I^X \mid x_t q \mu, \, \tau(\mu) \ge r, \, \tau^*(\mu) \le s \}.$$
(1.5)

A fuzzy set $\mu \in Q(x_t, r, s)$ is called (r, s)-Q open neighborhood of x_t .

2. Some properties of product intuitionistic fuzzy topological spaces

Theorem 2.1. Let $\{(X_i, \tau_i, \tau_i^*)\}_{i \in \Gamma}$ be a family of IFTSs, let X be a set and for each $i \in \Gamma$, $f_i : X \to X_i$ a map. Let

$$\Theta_{\mathbf{X}} = \left\{ \underline{0} \neq \mu = \bigwedge_{j=1}^{n} f_{k_j}^{-1}(\boldsymbol{\nu}_{k_j}) \mid \tau_{k_j}(\boldsymbol{\nu}_{k_j}) > 0, \, \forall k_j \in K \right\},\tag{2.1}$$

for every finite set $K = \{k_1, ..., k_n\} \subset \Gamma$. Define the functions $\beta, \beta^* : \Theta_X \to I$ on X by

$$\beta(\mu) = \bigvee \left\{ \bigwedge_{j=1}^{n} \tau_{k_{j}}(\nu_{k_{j}}) \mid \mu = \bigwedge_{j=1}^{n} f_{k_{j}}^{-1}(\nu_{k_{j}}) \right\},$$

$$\beta^{*}(\mu) = \bigwedge \left\{ \bigvee_{j=1}^{n} \tau_{k_{j}}^{*}(\nu_{k_{j}}) \mid \mu = \bigwedge_{j=1}^{n} f_{k_{j}}^{-1}(\nu_{k_{j}}) \right\},$$
(2.2)

where \bigvee and \bigwedge are taken over all finite subsets $K = \{k_1, k_2, \dots, k_n\} \subset \Gamma$. Then,

- (1) (β, β^*) is an IF topological base on X;
- (2) the IGO, $(\tau_{\beta}, \tau_{\beta^*}^*)$ generated by (β, β^*) is the coarsest IGO on X for which each $i \in \Gamma$, f_i is IF continuous;
- (3) a map $f : (Y, \tau_1, \tau_1^*) \to (X, \tau_\beta, \tau_{\beta^*}^*)$ is IF continuous if and only if for each $i \in \Gamma$, $f_i \circ f$ is IF continuous.

Proof. (B1) It is trivial.

(B2) Since $\lambda = f_i^{-1}(\lambda)$ for each $\lambda \in \{\underline{0}, \underline{1}\}, \beta(\underline{1}) = \beta(\underline{0}) = 1$ and $\beta^*(\underline{1}) = \beta^*(\underline{0}) = 0$. (B3) For all finite subsets $K = \{k_1, \dots, k_p\}$ and $J = \{j_1, \dots, j_q\}$ of Γ such that

$$\lambda = \bigwedge_{i=1}^{p} f_{k_i}^{-1}(\lambda_{k_i}), \qquad \mu = \bigwedge_{i=1}^{q} f_{j_i}^{-1}(\mu_{j_i}), \qquad (2.3)$$

we have

$$\lambda \wedge \mu = \left(\bigwedge_{i=1}^{p} f_{k_{i}}^{-1}(\lambda_{k_{i}})\right) \wedge \left(\bigwedge_{i=1}^{q} f_{j_{i}}^{-1}(\mu_{j_{i}})\right).$$
(2.4)

Furthermore, we have for each $k \in K \cap J$,

$$f_{k}^{-1}(\lambda_{k}) \wedge f_{k}^{-1}(\mu_{k}) = f_{k}^{-1}(\lambda_{k} \wedge \mu_{k}).$$
(2.5)

Put $\lambda \wedge \mu = \bigwedge_{m_i \in K \cup J} f_{m_i}^{-1}(\mu_i)(\rho_{m_i})$, where

$$\rho_{m_i} = \begin{cases}
\lambda_{m_i} & \text{if } m_i \in K - (K \cap J), \\
\mu_{m_i} & \text{if } m_i \in J - (K \cap J), \\
\lambda_{m_i} \wedge \mu_{m_i} & \text{if } m_i \in (K \cap J).
\end{cases}$$
(2.6)

We have

$$\beta(\lambda \wedge \mu) \geq \bigwedge_{j \in K \cup J} \tau_j(\rho_j)$$

$$\geq \left(\bigwedge_{i=1}^p \tau_{k_i}(\lambda_{k_i})\right) \wedge \left(\bigwedge_{i=1}^q \tau_{j_i}(\mu_{j_i})\right),$$

$$\beta^*(\lambda \wedge \mu) \leq \bigvee_{j \in K \cup J} \tau_j^*(\rho_j)$$

$$\leq \left(\bigvee_{i=1}^p \tau_{k_i}^*(\lambda_{k_i})\right) \vee \left(\bigvee_{i=1}^q \tau_{j_i}^*(\mu_{j_i})\right).$$
(2.7)

Then, $\beta(\lambda \wedge \mu) \ge \beta(\lambda) \wedge \beta(\mu)$ and $\beta^*(\lambda \wedge \mu) \le \beta^*(\lambda) \vee \beta^*(\mu)$. (2) For each $\lambda_i \in I^{X_i}$, one family $\{f_i^{-1}(\lambda_i)\}$, and $i \in \Gamma$, we have

$$\tau_{\beta}(f_i^{-1}(\lambda_i)) \ge \beta(f_i^{-1}(\lambda_i)) \ge \tau_i(\lambda_i),$$

$$\tau_{\beta^*}^*(f_i^{-1}(\lambda_i)) \le \beta^*(f_i^{-1}(\lambda_i)) \le \tau_i^*(\lambda_i).$$
(2.8)

Thus, for each $i \in \Gamma$, $f_i : (X, \tau_\beta, \tau_{\beta^*}) \to (X_i, \tau_i, \tau_i^*)$ is IF continuous. Let $f_i : (X, \tau^\circ, \tau^{\circ*}) \to (X_i, \tau_i, \tau_i^*)$ be IF continuous, that is, for each $i \in \Gamma$ and $\lambda_i \in I^{X_i}, \tau^\circ(f_i^{-1}(\lambda_i)) \geq \tau_i(\lambda_i)$ and $\tau^{\circ*}(f_i^{-1}(\lambda_i)) \leq \tau_i^*(\lambda_i)$. For all finite subsets $K = \{k_1, \ldots, k_p\}$ of Γ such that $\lambda = \bigwedge_{i=1}^p f_{k_i}^{-1}(\lambda_{k_i})$, we have

$$\tau^{\circ}(\lambda) \geq \bigwedge_{i=1}^{p} \tau^{\circ}(f_{k_{i}}^{-1}(\lambda_{k_{i}})) \geq \bigwedge_{i=1}^{p} \tau_{k_{i}}(\lambda_{k_{i}}),$$

$$\tau^{\circ*}(\lambda) \leq \bigvee_{i=1}^{p} \tau^{\circ*}(f_{k_{i}}^{-1}(\lambda_{k_{i}})) \leq \bigvee_{i=1}^{p} \tau_{k_{i}}^{*}(\lambda_{k_{i}}).$$

$$(2.9)$$

It implies $\tau^{\circ}(\lambda) \geq \beta(\lambda)$ and $\tau^{\circ*}(\lambda) \leq \beta^{*}(\lambda)$ for each $\lambda \in I^{X}$. By Theorem 1.5(2), $\tau^{\circ} \geq \tau_{\beta}$ and $\tau^{\circ*} \leq \tau_{\beta^{*}}^{*}$.

(3) (\Rightarrow) Let $f : (Y, \tau_1, \tau_1^*) \to (X, \tau_\beta, \tau_{\beta^*}^*)$ be an IF continuous. For each $i \in \Gamma$ and $\lambda_i \in I^{X_i}$, we have

$$\tau_{1}((f_{i} \circ f)^{-1}(\lambda_{i})) = \tau_{1}((f^{-1}(f_{i}^{-1}(\lambda_{i}))) \ge \tau_{\beta}(f_{i}^{-1}(\lambda_{i}))) \ge \tau_{i}(\lambda_{i}),$$

$$\tau_{1}^{*}((f_{i} \circ f)^{-1}(\lambda_{i})) = \tau_{1}^{*}((f^{-1}(f_{i}^{-1}(\lambda_{i}))) \le \tau_{\beta^{*}}^{*}(f_{i}^{-1}(\lambda_{i}))) \le \tau_{i}^{*}(\lambda_{i}).$$
(2.10)

Hence, $f_i \circ f : (Y, \tau_1, \tau_1^*) \rightarrow (X_i, \tau_i, \tau_i^*)$ is IF continuous.

(\Leftarrow) For all finite subsets $K = \{k_1, \dots, k_p\}$ of Γ such that $\lambda = \bigwedge_{i=1}^p f_{k_i}^{-1}(\lambda_{k_i})$, since $f_{k_i} \circ f$: $(Y, \tau_1, \tau_1^*) \to (X_{k_i}, \tau_{k_i}, \tau_{k_i}^*)$ is IF continuous,

$$\tau_1(f^{-1}(f_{k_i}^{-1}(\lambda_{k_i}))) \ge \tau_{k_i}(\lambda_{k_i}),\tag{A}$$

$$\tau_1^*(f^{-1}(f_{k_i}^{-1}(\lambda_{k_i}))) \le \tau_{k_i}^*(\lambda_{k_i}).$$
(B)

Hence, we have

$$\begin{aligned} \tau_{1}(f^{-1}(\lambda)) &= \tau_{1}\left(f^{-1}\left(\bigwedge_{i=1}^{p}f_{k_{i}}^{-1}(\lambda_{k_{i}})\right)\right) \\ &= \tau_{1}\left(\bigwedge_{i=1}^{p}f^{-1}(f_{k_{i}}^{-1}(\lambda_{k_{i}}))\right) \\ &\geq \bigwedge_{i=1}^{p}\tau_{1}(f^{-1}(f_{k_{i}}^{-1}(\lambda_{k_{i}}))) \\ &\geq \bigwedge_{i=1}^{p}\tau_{k_{i}}(\lambda_{k_{i}}), \quad (\text{by (A)}), \\ \tau_{1}^{*}(f^{-1}(\lambda)) &= \tau_{1}^{*}\left(f^{-1}\left(\bigwedge_{i=1}^{p}f_{k_{i}}^{-1}(\lambda_{k_{i}})\right)\right) \\ &= \tau_{1}^{*}\left(\bigwedge_{i=1}^{p}f^{-1}(f_{k_{i}}^{-1}(\lambda_{k_{i}}))\right) \\ &\leq \bigvee_{i=1}^{p}\tau_{1}^{*}(f^{-1}(f_{k_{i}}^{-1}(\lambda_{k_{i}}))) \\ &\leq \bigvee_{i=1}^{p}\tau_{k_{i}}^{*}(\lambda_{k_{i}}), \quad (\text{by (B)}). \end{aligned}$$

$$(2.11)$$

It implies $\tau_1(f^{-1}(\lambda)) \ge \beta(\lambda)$ and $\tau_1^*(f^{-1}(\lambda)) \le \beta^*(\lambda)$ for all $\lambda \in I^X$. By Theorem 1.5(2), $f: (Y, \tau_1, \tau_1^*) \to (X, \tau_\beta, \tau_{\beta^*}^*)$ is IF continuous.

Definition 2.2. Let (X, τ, τ^*) be an IFTS and $A \in X$. The triple $(A, \tau|_A, \tau^*|_A)$ is said to be a subspace of (X, τ, τ^*) if $(\tau|_A, \tau^*|_A)$ is the coarsest IGO on A for which the inclusion map i is IF continuous.

Definition 2.3. Let X be the product $\prod_{i \in \Gamma} X_i$ of the family $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ of IFTSs. The coarsest IGO, $(\tau, \tau^*) = (\bigotimes \tau_i, \bigotimes \tau_i^*)$ on X for which each the projections $\pi_i : X \to X_i$ is IF continuous, is called the product IGO of $\{(\tau_i, \tau_i^*) \mid i \in \Gamma\}$ and (X, τ, τ^*) is called the product IFTS.

Lemma 2.4. Let $(Y, \mathcal{U}, \mathcal{U}^*)$ be an IFTS and (β, β^*) an IF topological base on X. If $f : (X, \beta, \beta^*) \to (Y, \mathcal{U}, \mathcal{U}^*)$ is a function such that $\beta(\lambda) \leq \mathcal{U}(f(\lambda))$ and $\beta^*(\lambda) \geq \mathcal{U}^*(f(\lambda))$ for all $\lambda \in \Theta_X$, then $f : (X, \tau_{\beta}, \tau_{\beta^*}^*) \to (Y, \mathcal{U}, \mathcal{U}^*)$ is IF open.

Proof. Suppose there exists $\mu \in I^X$ such that

$$\tau_{\beta}(\mu) > \mathcal{U}(f(\mu)) \quad \text{or} \quad \tau^*_{\beta^*}(\mu) < \mathcal{U}^*(f(\mu)), \tag{2.12}$$

then there exists a family $\{\lambda_i \in \Theta_X \mid \mu = \bigvee_{i \in \Gamma} \lambda_i\}$ such that

$$\tau_{\beta}(\mu) \ge \bigwedge_{i \in \Gamma} \beta(\lambda_i) > \mathcal{U}(f(\mu)) \quad \text{or} \quad \tau^*_{\beta^*}(\mu) \le \bigvee_{i \in \Gamma} \beta^*(\lambda_i) < \mathcal{U}^*(f(\mu)).$$
(2.13)

On the other hand, since $\beta(\lambda) \leq \mathcal{U}(f(\lambda))$ and $\beta^*(\lambda) \geq \mathcal{U}^*(f(\lambda)) \ \forall \lambda \in \Theta_X$, then we have

$$\bigwedge_{i\in\Gamma} \beta(\lambda_i) \leq \bigwedge_{i\in\Gamma} \mathcal{U}(f(\lambda_i)) \leq \mathcal{U}\left[\bigvee_{i\in\Gamma} (f(\lambda_i))\right] = \mathcal{U}\left[f\left(\bigvee_{i\in\Gamma} (\lambda_i)\right)\right] = \mathcal{U}(f(\mu)),$$

$$\bigvee_{i\in\Gamma} \beta^*(\lambda_i) \geq \bigvee_{i\in\Gamma} \mathcal{U}^*(f(\lambda_i)) \geq \mathcal{U}^*\left[\bigvee_{i\in\Gamma} (f(\lambda_i))\right] = \mathcal{U}^*\left[f\left(\bigvee_{i\in\Gamma} (\lambda_i)\right)\right] = \mathcal{U}^*(f(\mu)).$$
(2.14)

It is a contradiction. Hence f is IF open.

Theorem 2.5. Let $(X, \tau_{\beta}, \tau_{\beta^*}^*)$ be a product space of a family $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ of IFTS's. Then the following statements are equivalent:

- (1) a projection map $\pi_j : (X, \tau_\beta, \tau^*_{\beta^*}) \rightarrow (X_j, \tau_j, \tau^*_j)$ is IF open;
- (2) for every $\mu = \bigwedge_{i \in \Gamma} \pi_i^{-1}(\lambda_i)$ such that $\bigvee_{x \in X_i} \lambda_i(x) = \alpha_i$ for each $\alpha_i \in I$ and $i \in \Gamma_\circ$ such that a finite index subset Γ_\circ of $\Gamma \{j\}$ and $\tau_i(\lambda_i) > 0$, then $\bigwedge_{i \in \Gamma_\circ} \tau_i(\lambda_i) \leq \tau_j(\underline{\alpha})$ and $\bigvee_{i \in \Gamma_\circ} \tau_i^*(\lambda_i) \geq \tau_j^*(\underline{\alpha})$, where $\alpha = \bigwedge_{i \in \Gamma_\circ} \alpha_i$.

Proof. (1) \Rightarrow (2): For every $\mu = \bigwedge_{i \in \Gamma} \pi_i^{-1}(\lambda_i)$ such that $\bigvee_{x \in X_i} \lambda_i(x) = \alpha_i$ for each $\alpha_i \in I$ and $i \in \Gamma_\circ$ such that a finite index subset Γ_\circ of $\Gamma - \{j\}$. By Lemma 1.6(2(b)), we have, for $\alpha = \bigwedge_{i \in \Gamma_\circ} \alpha_i$,

$$\pi_j(\mu) = \pi_j\left(\bigwedge_{i\in\Gamma_o} \pi_i^{-1}(\lambda_i)\right) = \underline{\alpha}.$$
(2.15)

Since $\mu \in \Theta_X$, by Theorem 2.1, we have

$$\bigwedge_{i\in\Gamma_{\circ}}\tau_{i}(\lambda_{i}) \leq \beta(\mu) \leq \tau_{\beta}(\mu), \qquad \bigvee_{i\in\Gamma_{\circ}}\tau_{i}^{*}(\lambda_{i}) \geq \beta^{*}(\mu) \geq \tau_{\beta^{*}}^{*}(\mu).$$
(2.16)

Furthermore, since π_i is IF open, we have

$$\tau_{\beta}(\mu) \leq \tau_{j}(\pi_{j}(\mu)) = \tau_{j}(\underline{\alpha}), \qquad \tau_{\beta^{*}}^{*}(\mu) \geq \tau_{j}^{*}(\pi_{j}(\mu)) = \tau_{j}^{*}(\underline{\alpha}).$$
(2.17)

Hence, $\bigwedge_{i \in \Gamma_{\circ}} \tau_i(\lambda_i) \leq \tau_j(\underline{\alpha})$ and $\bigvee_{i \in \Gamma_{\circ}} \tau_i^*(\lambda_i) \geq \tau_j^*(\underline{\alpha})$.

(2) \Rightarrow (1): From Lemma 2.4, we only show that $\beta(\mu) \leq \tau_j(\pi_j(\lambda))$ and $\beta^*(\mu) \geq \tau_j^*(\pi_j(\lambda))$ for all $\lambda \in \Theta_X$. Suppose that there exists $\nu \in \Theta_X$ such that $\beta(\nu) > \tau_j(\pi_j(\nu))$ or $\beta^*(\nu) < \tau_j^*(\pi_j(\nu))$. Then there exists a finite index subset Γ_\circ of $\Gamma - \{j\}$ with $\nu = \pi_j^{-1}(\lambda_j) \wedge [\Lambda_{i \in \Gamma_\circ} \pi_i^{-1}(\lambda_i)]$ (if necessary, we can take $\lambda_j = \underline{1}$) such that

$$\beta(\nu) \geq \tau_{j}(\lambda_{j}) \wedge \left[\bigwedge_{i \in \Gamma_{\circ}} \tau_{i}(\lambda_{i})\right] > \tau_{j}(\pi_{j}(\nu)),$$

$$\beta^{*}(\nu) \leq \tau_{j}^{*}(\lambda_{j}) \vee \left[\bigvee_{i \in \Gamma_{\circ}} \tau_{i}^{*}(\lambda_{i})\right] < \tau_{j}^{*}(\pi_{j}(\nu)).$$
(2.18)

On the other hand, by Lemma 1.6(2), we have

$$\pi_{j}(\nu) = \pi_{j} \left[\pi_{j}^{-1}(\lambda_{j}) \wedge \left(\bigwedge_{i \in \Gamma_{\circ}} \pi_{i}^{-1}(\lambda_{i}) \right) \right]$$
$$= \lambda_{j} \wedge \pi_{j} \left[\bigwedge_{i \in \Gamma_{\circ}} \pi_{i}^{-1}(\lambda_{i}) \right]$$
$$= \lambda_{j} \wedge \underline{\alpha}_{\prime}$$
(2.19)

where $\bigvee_{x \in X_i} \lambda_i(x) = \alpha_i$ and $\alpha = \bigwedge_{i \in \Gamma_\circ} \alpha_i$. Since $\bigwedge_{i \in \Gamma_\circ} \tau_i(\lambda_i) \le \tau_j(\underline{\alpha})$ and $\bigvee_{i \in \Gamma_\circ} \tau_i^*(\lambda_i) \ge \tau_j^*(\underline{\alpha})$, we have

$$\tau_{j}(\pi_{j}(\nu)) = \tau_{j}(\lambda_{j} \wedge \underline{\alpha})$$

$$\geq \tau_{j}(\lambda_{j}) \wedge \tau_{j}(\underline{\alpha})$$

$$\geq \tau_{j}(\lambda_{j}) \wedge \left(\bigwedge_{i \in \Gamma_{\circ}} \tau_{i}(\lambda_{i})\right),$$

$$\tau_{j}^{*}(\pi_{j}(\nu)) = \tau_{j}^{*}(\lambda_{j} \wedge \underline{\alpha})$$

$$\leq \tau_{j}^{*}(\lambda_{j}) \wedge \tau_{j}^{*}(\underline{\alpha})$$

$$\leq \tau_{j}^{*}(\lambda_{j}) \vee \left(\bigvee_{i \in \Gamma_{\circ}} \tau_{i}^{*}(\lambda_{i})\right).$$
(2.20)

It is a contradiction.

Theorem 2.6. Let (X, τ, τ^*) be a product space of a family $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ of IFTSs and (X_j, τ_j, τ_j^*) be stratified. Then, the following properties hold:

- (1) (X, τ, τ^*) is stratified;
- (2) a projection map $\pi_i : X \to X_i$ is IF open.

Proof. (1) It is clear from the following: for all $\alpha \in I$,

$$\tau(\underline{\alpha}) \ge \beta(\underline{\alpha}) = \bigvee \left\{ \bigwedge_{i \in \Gamma_{\circ}} \tau_{i}(\lambda_{i}) \mid \underline{\alpha} = \bigwedge_{i \in \Gamma_{\circ}} \pi_{i}^{-1}(\lambda_{i}) \right\} \ge \tau_{j}(\underline{\alpha}) = 1,$$

$$\tau^{*}(\underline{\alpha}) \le \beta^{*}(\underline{\alpha}) = \bigwedge \left\{ \bigvee_{i \in \Gamma_{\circ}} \tau_{i}^{*}(\lambda_{i}) \mid \underline{\alpha} = \bigwedge_{i \in \Gamma_{\circ}} \pi_{i}^{-1}(\lambda_{i}) \right\} \le \tau_{j}^{*}(\underline{\alpha}) = 0.$$
(2.21)

(2) Since $\tau_j(\underline{\alpha}) = 1$ and $\tau_j^*(\underline{\alpha}) = 0$ for all $\alpha \in I$, it satisfies the condition of Theorem 2.5(2).

Theorem 2.7. Let (X, τ, τ^*) be a product space of a family $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ of IFTSs and let (X_j, τ_j, τ_j^*) be stratified. Then for every $\tilde{X}_j = X_j \times \prod \{y^i \mid i \neq j\}$ in X parallel to $X_j, \pi_j|_{\tilde{X}_j} : \tilde{X}_j \to X_j$ is an IF homeomorphism.

Proof. Let $\tilde{X}_j = X_j \times \prod \{y^i \mid i \neq j\}$. Since $i : \tilde{X}_j \to \tilde{X}_j$ and $\pi_j : \tilde{X}_j \to X_j$ are IF continuous, $\pi_j \circ i = \pi_j|_{\tilde{X}_i}$ is IF continuous. Moreover, $\pi_j|_{\tilde{X}_i}$ is bijective.

Now we only show that $\pi_j|_{\widetilde{X}_j}$ is IF open. Suppose there exists $\mu \in I^{\widetilde{X}_j}$ such that

$$\tau|_{\tilde{X}_{j}}(\mu) > \tau_{j}(\pi_{j}|_{\tilde{X}_{j}}(\mu)) \quad \text{or} \quad \tau^{*}|_{\tilde{X}_{j}}(\mu) < \tau^{*}_{j}(\pi_{j}|_{\tilde{X}_{j}}(\mu)).$$
(2.22)

Then there exists $v \in I^X$ with $\mu = i^{-1}(v)$ such that

$$\tau|_{\widetilde{X}_{j}}(\mu) \ge \tau(\nu) > \tau_{j}(\pi_{j}|_{\widetilde{X}_{j}}(\mu)) \quad \text{or} \quad \tau^{*}|_{\widetilde{X}_{j}}(\mu) \le \tau^{*}(\nu) < \tau_{j}^{*}(\pi_{j}|_{\widetilde{X}_{j}}(\mu)).$$
(2.23)

From the definition of (τ, τ^*) , there exists a family $\{v_k \in \Theta_X \mid v = \bigvee_{k \in K} v_k\}$ such that

$$\tau(\nu) \ge \bigwedge_{k \in K} \beta(\nu_k) > \tau_j(\pi_j|_{\widetilde{X}_j}(\mu)) \quad \text{or} \quad \tau^*(\nu) \le \bigvee_{k \in K} \beta^*(\nu_k) < \tau_j^*(\pi_j|_{\widetilde{X}_j}(\mu)).$$
(C)

On the other hand, since each $v_k \in \Theta_X$, there exists a finite index F_k of $\Gamma - \{j\}$ with $v_k = \pi_j^{-1}(\lambda_{k_j}) \wedge (\bigwedge_{i \in F_k} \pi_i^{-1}(\lambda_i))$. Since $\pi_i^{-1}(\lambda_i)(x) = y^i$ for $i \neq j$, then for each $x \in \tilde{X}_j$, $\bigwedge_{i \in F_k} \pi_i^{-1}(\lambda_i)(x) = (\bigwedge_{i \in F_k} \lambda_i)(y^i)$. Put $\alpha_k = (\bigwedge_{i \in F_k} \lambda_i)(y^i)$. Let $\mu_k = i^{-1}(v_k)$ for each $k \in K$. Then,

$$\begin{aligned} \pi_{j}|_{\widetilde{X}_{j}}(\mu_{k})(x^{j}) &= \bigvee \left\{ \mu_{k}(x) \mid x \in \widetilde{X}_{j}, \pi_{j}|_{\widetilde{X}_{j}}(x) = x^{j} \right\} \\ &= \bigvee \left\{ i^{-1}(\nu_{k})(x) \mid x \in \widetilde{X}_{j}, \pi_{j}(x) = x^{j}(\mu_{k}) = i^{-1}(\nu_{k}) \right\} \\ &= \bigvee \left\{ \nu_{k}(x) \mid x \in \widetilde{X}_{j}, \pi_{j}(x) = x^{j} \right\} \\ &= \bigvee \left\{ \pi_{j}^{-1}(\lambda_{k_{j}})(x) \wedge \left(\bigwedge_{i \in F_{k}} \pi_{i}^{-1}(\lambda_{i})(x) \mid x \in \widetilde{X}_{j}, \pi_{j}(x) = x^{j} \right) \right\} \\ &= \bigvee \left\{ \lambda_{k_{j}}(\pi_{j}(x)) \wedge \left(\bigwedge_{i \in F_{k}} \lambda_{i} \right)(\pi_{i}(x)) \mid x \in \widetilde{X}_{j}, \pi_{j}(x) = x^{j} \right\} \end{aligned}$$
(2.24)
$$&= \lambda_{k_{j}}(x^{j}) \wedge \left(\bigwedge_{i \in F_{k}} \lambda_{i} \right) y^{i} \\ &= \lambda_{k_{j}}(x^{j}) \wedge \alpha_{k} \\ &= (\lambda_{k_{j}} \wedge \alpha_{k})(x^{j}). \end{aligned}$$

Hence, $\pi_j|_{\widetilde{X}_i}(\mu_k) = \lambda_{k_j} \wedge \underline{\alpha_k}$. Thus,

$$\tau_{j}(\pi_{j}|_{\widetilde{X}_{j}}(\mu_{k})) = \tau_{j}(\lambda_{k_{j}} \wedge \underline{\alpha_{k}})$$

$$\geq \tau_{j}(\lambda_{k_{j}}) \wedge \tau_{j}(\underline{\alpha_{k}})$$

$$= \tau_{j}(\lambda_{k_{j}})$$

$$\geq \tau_{j}(\lambda_{k_{j}}) \wedge \left(\bigwedge_{i \in F_{k}} \lambda_{i}\right),$$

$$\tau_{j}^{*}(\pi_{j}|_{\widetilde{X}_{j}}(\mu_{k})) = \tau_{j}^{*}(\lambda_{k_{j}} \wedge \underline{\alpha_{k}})$$

$$\leq \tau_{j}^{*}(\lambda_{k_{j}}) \vee \tau_{j}^{*}(\underline{\alpha_{k}})$$

$$= \tau_{j}^{*}(\lambda_{k_{j}})$$

$$\leq \tau_{j}^{*}(\lambda_{k_{j}}) \vee \left(\bigwedge_{i \in F_{k}} \lambda_{i}\right).$$
(2.25)

From the definition of (β, β^*) , it implies

$$\tau_j(\pi_j|_{\widetilde{X}_j}(\mu_k)) \ge \beta(\nu_k), \qquad \tau_j^*(\pi_j|_{\widetilde{X}_j}(\mu_k)) \le \beta^*(\nu_k).$$
(2.26)

Thus,

$$\tau_{j}(\pi_{j}|_{\widetilde{X}_{j}}(\mu)) \geq \bigwedge_{k \in K} \tau_{j}(\pi_{j}|_{\widetilde{X}_{j}}(\mu_{k})) \geq \bigwedge_{k \in K} \beta(\nu_{k}),$$

$$\tau_{j}^{*}(\pi_{j}|_{\widetilde{X}_{j}}(\mu)) \leq \bigvee_{k \in K} \tau_{j}^{*}(\pi_{j}|_{\widetilde{X}_{j}}(\mu_{k})) \leq \bigvee_{k \in K} \beta^{*}(\nu_{k}).$$

$$(2.27)$$

It is a contradiction for (C).

In an IFTS { $(X_i, \tau_i, \tau_i^*) | i \in \Gamma$ }, $\tilde{X}_j = X_j \times \prod \{y^i | i \neq j\}$ need not be homeomorphic to X from the following example.

Example 2.8. Let $X = \{x^1, x^2, x^3\}$, $Y = \{y^1, y^2\}$, and $Z = \{z^1, z^2\}$ be sets and $W = X \times Y \times Z$ a product set. Let $\pi_1 : W \to X$, $\pi_2 : W \to Y$, and $\pi_3 : W \to Z$ be the projection maps. Define $\tau_1, \tau_1^* : I^X \to I$ by

$$\tau_{1}(\lambda) = \begin{cases} 1 & \text{if } \lambda = \underline{0}, \underline{1}, \\ \frac{1}{2} & \text{if } \lambda = \lambda_{1}, \\ 0 & \text{otherwise,} \end{cases} \qquad \tau_{1}^{*}(\lambda) = \begin{cases} 0 & \text{if } \lambda = \underline{0}, \underline{1}, \\ \frac{1}{2} & \text{if } \lambda = \lambda_{1}, \\ 1 & \text{otherwise,} \end{cases}$$
(2.28)

where $\lambda_1(x^1) = 0.5$, $\lambda_1(x^2) = 0.2$, and $\lambda_1(x^3) = 0.3$. Also, $\tilde{X}_j = \{(x, y^2, z^2) : x \in X\}$, define $\tau|_{\tilde{X}_j}, \tau^*|_{\tilde{X}_j} : I^{\tilde{X}_j} \to I$ by

$$\tau|_{\tilde{X}_{j}}(\mu) = \begin{cases} 1 & \text{if } \mu = \underline{0}, \underline{1}, \\ \frac{1}{2} & \text{if } \mu = \mu_{1}, \\ \frac{2}{3} & \text{if } \mu = \underline{0.1}, \\ \frac{1}{4} & \text{if } \mu = \underline{0.7}, \\ 0 & \text{otherwise,} \end{cases} \qquad \tau^{*}|_{\tilde{X}_{j}}(\mu) = \begin{cases} 0 & \text{if } \mu = \underline{0}, \underline{1}, \\ \frac{1}{2} & \text{if } \mu = \mu_{1}, \\ \frac{1}{3} & \text{if } \mu = \underline{0.1}, \\ \frac{3}{4} & \text{if } \mu = \underline{0.7}, \\ 1 & \text{otherwise,} \end{cases}$$
(2.29)

where $\mu_1(x^1, y^2, z^2) = 0.5$, $\mu_1(x^2, y^2, z^2) = 0.2$, and $\mu_1(x^3, y^2, z^2) = 0.3$. Then the projection map $\pi_j|_{\tilde{X}_i} : \tilde{X}_j \to X$ is bijective IF continuous, but $\pi_j|_{\tilde{X}_i}$ is not IF open, because

$$\frac{2}{3} = \tau|_{\tilde{X}_j}(\underline{0.1}) \not\leq \tau_1(\pi_1|_{\tilde{X}_j}(\underline{0.1})) = 0.$$
(2.30)

Hence, \tilde{X}_i and X are not homeomorphic.

Theorem 2.9. Let (X, τ, τ^*) be a product space of a family $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ of IFTSs. Then, the following properties hold:

(1)
$$C_{\tau,\tau^*}(\prod_{i\in\Gamma}\lambda_i, r, s) \leq \prod_{i\in\Gamma}C_{\tau_i,\tau_i^*}(\lambda_i, r, s), \forall \lambda_i \in I^{X_i}, r \in I_0, s \in I_1;$$

(2) if $C_{\tau_i,\tau_i^*}(\lambda_i, r, s) = \lambda_i, \forall \lambda_i \in I^{X_i}, r \in I_0, s \in I_1, then C_{\tau,\tau^*}(\prod_{i\in\Gamma}\lambda_i, r, s) = \prod_{i\in\Gamma}\lambda_i.$

Proof. (1) Suppose $C_{\tau,\tau^*}(\prod_{i\in\Gamma}\lambda_i, r, s) \not\leq \prod_{i\in\Gamma}C_{\tau_i,\tau_i^*}(\lambda_i, r, s)$. Then there exist $x \in X$ and $t \in (0, 1)$ such that

$$\mathcal{C}_{\tau,\tau^*}\left(\prod_{i\in\Gamma}\lambda_i,r,s\right)(x)\geq t>\prod_{i\in\Gamma}\mathcal{C}_{\tau_i,\tau_i^*}(\lambda_i,r,s)(x).$$
(D)

Since $\prod_{i\in\Gamma} C_{\tau_i,\tau_i^*}(\lambda_i, r, s) < t$, there exists $j \in \Gamma$ such that $\prod_{i\in\Gamma} C_{\tau_i,\tau_i^*}(\lambda_i, r, s) \leq \pi_j^{-1}(C_{\tau_i,\tau_i^*}(\lambda_i, r, s)) < t$. Put $\pi_j(x) = x^j$. It implies $C_{\tau_j,\tau_j^*}(\lambda_j, r, s)(x^j) < t$. From the definition of C_{τ_j,τ_j^*} , there exists $\mu_j \in I^{X_j}$ with $\lambda_j \leq \mu_j$ and $\tau_j(\underline{1} - \mu_j) \geq r$, $\tau_j^*(\underline{1} - \mu_j) \leq s$ such that

$$\mathcal{C}_{\tau_j,\tau_i^*}(\lambda_j, r, s)(x^j) \le \mu_j(x^j) < t.$$
(2.31)

On the other hand, we have

$$\lambda_{j} \leq \mu_{j} \Longrightarrow \pi_{j}^{-1}(\lambda_{j}) \leq \pi_{j}^{-1}(\mu_{j})$$
$$\Longrightarrow \prod_{i \in \Gamma} \lambda_{i} = \bigwedge_{i \in \Gamma} \pi_{j}^{-1}(\lambda_{i}) \leq \pi_{j}^{-1}(\mu_{j})$$
$$\Longrightarrow C_{\tau,\tau^{*}}\left(\prod_{i \in \Gamma} \lambda_{i}, r, s\right) \leq \pi_{j}^{-1}(\mu_{j}),$$
(2.32)

because $\tau(\underline{1} - \pi_j^{-1}(\mu_j)) = \tau(\pi_j^{-1}(\underline{1} - \mu_j)) \ge \tau_j(\underline{1} - \mu_j) \ge r$ and $\tau^*(\underline{1} - \pi_j^{-1}(\mu_j)) = \tau^*(\pi_j^{-1}(\underline{1} - \mu_j)) \le \tau_j^*(\underline{1} - \mu_j) \le s$. Hence,

$$\mathcal{C}_{\tau,\tau^*}\left(\prod_{i\in\Gamma}\lambda_i, r, s\right)(x) \le \pi_j^{-1}(\mu_j)(x) = \mu_j(x^j) < t.$$
(2.33)

It is a contradiction for (D). Hence,

$$\mathcal{C}_{\tau,\tau^*}\left(\prod_{i\in\Gamma}\lambda_i, r, s\right) \le \prod_{i\in\Gamma}\mathcal{C}_{\tau_i,\tau_i^*}(\lambda_i, r, s).$$
(2.34)

(2) It is clear from the following:

$$\prod_{i\in\Gamma}\lambda_{i} \leq C_{\tau,\tau^{*}}\left(\prod_{i\in\Gamma}\lambda_{i}, r, s\right) \leq \prod_{i\in\Gamma}C_{\tau_{i},\tau_{i}^{*}}(\lambda_{i}, r, s) = \prod_{i\in\Gamma}\lambda_{i}.$$
(2.35)

3. Some properties of (r, s)- T_0 and (r, s)- T_1 spaces

Definition 3.1. An IFTS (X, τ, τ^*) is said to be as follows.

- (1) (r, s)-quasi- T_0 space if for each $x_t, x_m \in P_t(X)$ and t < m, there exists $\lambda \in Q(x_m, r, s)$ such that $x_t \bar{q} \lambda$.
- (2) (r, s)-sub- T_0 space if for each $x \neq y \in X$, there exists $t \in I_0$ such that there exists $\lambda \in Q(x_t, r, s)$ such that $y_t \overline{q} \lambda$, or there exists $\mu \in Q(y_t, r, s)$ such that $x_t \overline{q} \mu$.
- (3) (r, s)- T_0 space if for each $x_t, y_m \in P_t(X)$, there exists $\lambda \in Q(x_t, r, s)$ such that $y_m \overline{q} \lambda$, or there exists $\mu \in Q(y_m, r, s)$ such that $x_t \overline{q} \mu$.
- (4) (r, s)- T_1 space if for each $x_t, y_m \in P_t(X)$ such that $x_t \not\leq y_m$, there exists $\lambda \in Q(x_t, r, s)$ such that $y_m \overline{q} \lambda$.

Theorem 3.2. Let (X, τ, τ^*) be an IFTS. Then the following statements are equivalent:

- (1) (X, τ, τ^*) is (r, s)- T_0 space;
- (2) for each $x_t, y_m \in P_t(X), Q(x_t, r, s) \neq Q(y_m, r, s);$
- (3) for each $x_t, y_m \in P_t(X)$, then $x_t \notin C_{\tau,\tau^*}(y_m, r, s)$ or $y_m \notin C_{\tau,\tau^*}(x_t, r, s)$.

Proof. $(1) \Rightarrow (2)$: It is trivial.

 $(2) \Rightarrow (3)$: Let $\lambda \in Q(x_t, r, s)$ and $\lambda \notin Q(y_m, r, s)$. Since $\lambda \notin Q(y_m, r, s)$, we have

$$y_m \le \underline{1} - \lambda, \qquad \tau(\lambda) \ge r, \qquad \tau^*(\lambda) \le s.$$
 (3.1)

By Theorem 1.2, we have $C_{\tau,\tau^*}(y_m, r, s) \leq \underline{1} - \lambda$. Since $x_t q \lambda$ and $\lambda \leq \underline{1} - C_{\tau,\tau^*}(y_m, r, s)$, then $x_t q[\underline{1} - C_{\tau,\tau^*}(y_m, r, s)]$. Hence, $x_t \notin C_{\tau,\tau^*}(y_m, r, s)$.

 $(3) \Rightarrow (1): \text{Let } x_t, y_m \in P_t(X) \text{ and } x_t \notin \mathcal{C}_{\tau,\tau^*}(y_m, r, s). \text{ Then } t > \mathcal{C}_{\tau,\tau^*}(y_m, r, s)(x) \text{ implies } x_tq[\underline{1} - \mathcal{C}_{\tau,\tau^*}(y_m, r, s)]. \text{ Since } \mathcal{C}_{\tau,\tau^*}(y_m, r, s) = \bigwedge \{\mu \mid \mu \ge y_m, \tau(\underline{1} - \mu) \ge r, \tau^*(\underline{1} - \mu) \le s\}. \text{ Since } \tau(\bigvee (\underline{1} - \mu)) \ge \bigwedge \tau(\underline{1} - \mu) \text{ and } \tau^*(\bigvee (\underline{1} - \mu)) \le \bigvee \tau^*(\underline{1} - \mu), \text{ we have } \tau(\underline{1} - \mathcal{C}_{\tau,\tau^*}(y_m, r, s)) \ge r \text{ and } \tau^*(\underline{1} - \mathcal{C}_{\tau,\tau^*}(y_m, r, s)) \le s. \text{ Hence, } [\underline{1} - \mathcal{C}_{\tau,\tau^*}(y_m, r, s)] \in Q(x_t, r, s). \text{ Since } y_m \in \mathcal{C}_{\tau,\tau^*}(y_m, r, s) \text{ and } y_m \overline{q}[\underline{1} - \mathcal{C}_{\tau,\tau^*}(y_m, r, s))]. \text{ Thus, } (X, \tau, \tau^*) \text{ is } (r, s) - T_0 \text{ space.}$

We can prove the following corollaries as a similar method as Theorem 3.2.

Corollary 3.3. Let (X, τ, τ^*) be an IFTS. Then the following statements are equivalent:

- (1) (X, τ, τ^*) is (r, s)-quasi- T_0 space;
- (2) for each $x_t, x_m \in P_t(X), Q(x_t, r, s) \neq Q(x_m, r, s);$
- (3) for each $x_t, x_m \in P_t(X)$, then $x_t \notin C_{\tau,\tau^*}(x_m, r, s)$ or $x_m \notin C_{\tau,\tau^*}(x_t, r, s)$.

Corollary 3.4. Let (X, τ, τ^*) be an IFTS. Then the following statements are equivalent:

- (1) (X, τ, τ^*) is (r, s)-sub-T₀ space;
- (2) for each $x \neq y \in X$, there exists $t \in I_0$ such that $Q(x_t, r, s) \neq Q(y_t, r, s)$;
- (3) for each $x \neq y \in X$, there exists $t \in I_0$ such that $x_t \notin C_{\tau,\tau^*}(y_t, r, s)$ or $y_t \notin C_{\tau,\tau^*}(x_t, r, s)$.

Example 3.5. Let $X = \{x, y\}$ be a set. We define an IGO (τ, τ^*) on X as follows:

$$\tau(\lambda) = \begin{cases} 1 & \text{if } \lambda = \underline{1} \text{ or } \underline{0}, \\ \frac{1}{2} & \text{if } \lambda = x_{0.7}, \\ 0 & \text{otherwise}, \end{cases} \qquad \tau^*(\lambda) = \begin{cases} 0 & \text{if } \lambda = \underline{1} \text{ or } \underline{0}, \\ \frac{1}{2} & \text{if } \lambda = x_{0.7}, \\ 1 & \text{otherwise.} \end{cases}$$
(3.2)

For each $x \neq y \in X$, there exists $0.4 \in I_0$ such that $x_{0.7} \in Q(x_{0.4}, 1/2, 1/2)$ and $y_{0.4}\bar{q}x_{0.7}$. Hence, (X, τ, τ^*) is (1/2, 1/2)-sub- T_0 space. On the other hand, since $Q(y_{0.5}, 1/2, 1/2) = Q(y_{0.6}, 1/2, 1/2) = \{\underline{1}\}$, by Corollary 3.3(2), (X, τ, τ^*) is not (1/2, 1/2)-quasi- T_0 space.

Theorem 3.6. Let (X, τ, τ^*) be an IFTS. Then the following statements are equivalent:

- (1) (X, τ, τ^*) is (r, s)- T_1 space;
- (2) for each $x_t \in P_t(X)$, $x_t = C_{\tau,\tau^*}(x_t, r, s)$;
- (3) for each $\lambda \in I^X$, $\lambda = \bigwedge \{ \mu \mid \lambda \le \mu, \tau(\mu) \ge r, \tau^*(\mu) \le s \}$.

Proof. (1)=>(2): We only show that $C_{\tau,\tau^*}(x_t, r, s) \leq x_t$. Let $y_m \in C_{\tau,\tau^*}(x_t, r, s)$. Suppose that $y_m \not\leq x_t$. Since (X, τ, τ^*) is (r, s)- T_1 space, there exists $\lambda \in Q(y_m, r, s)$ such that $x_t \overline{q} \lambda$. It implies $x_t \leq \underline{1} - \lambda$ with $\tau(\lambda) \geq r$ and $\tau^*(\lambda) \leq s$. Hence, $C_{\tau,\tau^*}(x_t, r, s) \leq \underline{1} - \lambda$. Since $y_m \in C_{\tau,\tau^*}(x_t, r, s) \leq \underline{1} - \lambda$, we have $\lambda \notin Q(y_m, r, s)$. It is a contradiction. Hence, $y_m \leq x_t$. Since $y_m \in C_{\tau,\tau^*}(x_t, r, s)$ implies $y_m \leq x_t$, then $C_{\tau,\tau^*}(x_t, r, s) \leq x_t$.

(2) \Rightarrow (3): Let $\rho = \bigwedge \{ \mu \mid \lambda \le \mu, \tau(\mu) \ge r, \tau^*(\mu) \le s \}$. We only show that $\rho \le \lambda$. Suppose there exist $x \in X$ and $t \in (0, 1)$ such that

$$\rho(x) > 1 - t \ge \lambda(x). \tag{3.3}$$

Then, $\lambda \leq \underline{1} - x_t$. Since $x_t = C_{\tau,\tau^*}(x_t, r, s)$,

$$\tau(\underline{1}-x_t) = \tau(\underline{1}-\mathcal{C}_{\tau,\tau^*}(x_t,r,s)) \ge r, \qquad \tau^*(\underline{1}-\mathcal{C}_{\tau,\tau^*}(x_t,r,s)) \le s.$$
(3.4)

Hence, $\rho \leq \underline{1} - x_t$. It is a contradiction.

 $(3) \Rightarrow (1)$: For each $x_t, y_m \in P_t(X)$ such that $x_t \not\leq y_m, \underline{1} - x_t \not\geq \underline{1} - y_m$. From (3), since $\underline{1} - y_m = \bigwedge \{ \mu \mid \underline{1} - y_m \leq \mu, \tau(\mu) \geq r, \tau^*(\mu) \leq s \}$, there exists $\mu = \underline{1} - y_m \in I^X$ such that

$$\tau(\underline{1} - y_m) \ge r, \qquad \tau^*(\underline{1} - y_m) \le s. \tag{3.5}$$

Moreover, since $\underline{1} - x_t \not\geq \underline{1} - y_m$, we have $x_t q[\underline{1} - y_m]$. Thus $\underline{1} - y_m \in Q(x_t, r, s)$ such that $y_m \overline{q}[\underline{1} - y_m]$. Hence, (X, τ, τ^*) is (r, s)- T_1 space.

Theorem 3.7. Let (X, τ, τ^*) be a stratified IFTS. Then (X, τ, τ^*) is (r, s)-quasi- T_0 space for all $r \in I_0$, $s \in I_1$.

Proof. Let $x_t, x_m \in P_t(X)$ such that t < m. Then there exists $\alpha \in I_0$ such that

$$t \le 1 - \alpha < m. \tag{3.6}$$

Since (X, τ, τ^*) is stratified IFTS, we have $\tau(\underline{\alpha}) = 1$ and $\tau^*(\underline{\alpha}) = 0$. Hence, $\underline{\alpha} \in Q(x_m, r, s)$ such that $x_t \overline{q} \underline{\alpha}$.

Theorem 3.8. (1) Every (r, s)- T_0 space is both (r, s)-quasi- T_0 and (r, s)-sub- T_0 . (2) Every (r, s)- T_1 space is (r, s)- T_0 .

Proof. (1) For each $x_t, x_m \in P_t(X)$ such that t < m. By (r, s)- T_0 space, there exists $\lambda \in Q(x_t, r, s)$ such that $x_m \overline{q} \lambda$. Since t < m, we have $x_t \overline{q} \lambda$. So, X is (r, s)-quasi- T_0 .

(2) For each $x_t, y_m \in P_t(X)$, if $x_t \not\leq y_m$, by (r, s)- T_1 space, there exists $\lambda \in Q(x_t, r, s)$ such that $y_m \overline{q} \lambda$. Also, if $y_m \not\leq x_t$, by (r, s)- T_1 space, there exists $\mu \in Q(y_m, r, s)$ such that $x_t \overline{q} \mu$. Hence, X is (r, s)- T_0 .

The converse of Theorem 3.8 is not true from the following examples.

Example 3.9. Let $X = \{x, y\}$ be a set. We define an IGO (τ, τ^*) on X as follows:

$$\tau(\lambda) = \begin{cases} 1 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ \frac{1}{3} & \text{if } \lambda = \mu_{pq}, \\ 0 & \text{otherwise,} \end{cases} \qquad \tau^*(\lambda) = \begin{cases} 0 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ \frac{2}{3} & \text{if } \lambda = \mu_{pq}, \\ 1 & \text{otherwise,} \end{cases}$$
(3.7)

where for each $0 , <math>\mu_{pq}(x) = p$ and $\mu_{pq}(y) = q$, $0 \le q < p$. Since (X, τ, τ^*) is a stratified IFTS, by Theorem 3.7, (X, τ, τ^*) is (r, s)-quasi- T_0 space for each $r \in I_0$ and $s \in I_1$.

If r > 1/3, s < 2/3, and $t \in I_0$, then for each $x_t, y_t \in P_t(X)$, we have

$$Q(x_t, r, s) = Q(y_t, r, s) = \{\underline{\alpha} \mid 1 - t < \alpha \le 1\}.$$
(3.8)

By Theorem 3.2(2) and Corollary 3.4(2), (X, τ, τ^*) is neither (r, s)-sub- T_0 nor (r, s)- T_0 for r > 1/3 and s < 2/3.

If $0 < r \le 1/3$, $2/3 \le s < 1$, and $x \ne y \in X$, there exists $0.7 \in I_0$ such that there exists $\mu_{(2/5)0} \in Q(x_{0.7}, r, s)$ with $y_{0.7}\overline{q}\mu_{(2/5)0}$. Hence, (X, τ, τ^*) is (r, s)-sub- T_0 for $0 < r \le 1/3$ and $2/3 \le s < 1$.

For $x_{0.3}, y_{0.3} \in P_t(X)$, $0 < r \le 1/3$, and $2/3 \le s < 1$, we have $Q(x_{0.3}, r, s) = Q(y_{0.3}, r, s) = {\underline{\alpha} \mid 0.7 < \alpha}$. Hence, it is not (r, s)- T_0 for $0 < r \le 1/3$ and $2/3 \le s < 1$. For $0 < r \le 1/3$ and $2/3 \le s < 1$. For $0 < r \le 1/3$ and $2/3 \le s < 1$. (X, τ, τ^*) is both (r, s)-quasi- T_0 and (r, s)-sub- T_0 , but not (r, s)- T_0 .

Example 3.10. Let $X = \{x, y\}$ be a set. We define an IGO (τ, τ^*) on X as follows:

$$\tau(\lambda) = \begin{cases} 1 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ \frac{1}{2} & \text{if } \lambda = \mu_{pq}, \\ 0 & \text{otherwise,} \end{cases} \qquad \tau^*(\lambda) = \begin{cases} 0 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ \frac{1}{2} & \text{if } \lambda = \mu_{pq}, \\ 1 & \text{otherwise,} \end{cases}$$
(3.9)

where for each $0 , <math>\mu_{pq}(x) = p$ and $\mu_{pq}(y) = q$, $0 \le q < p$. Let $z_t, z_m \in P_t(X)$ with $t \ne m$ for z = x or y. We have

$$Q\left(z_t, \frac{1}{2}, \frac{1}{2}\right) \neq Q\left(z_m, \frac{1}{2}, \frac{1}{2}\right).$$
 (3.10)

For $x_t, y_m \in P_t(X)$, for p > 1 - t, we have $\mu_{p0} \in Q(x_t, 1/2, 1/2)$ with $y_m \overline{q} \mu_{p0}$. Hence, (X, τ, τ^*) is (1/2, 1/2)- T_0 space. On the other hand, let $y_{0.5} \not\leq x_{0.5}$. For each $\mu_{pq} \in Q(y_{0.5}, 1/2, 1/2)$, since q + 0.5 > 1 and p > q, we have $x_{0.5}q\mu_{pq}$, that is, $Q(y_{0.5}, 1/2, 1/2) \subset Q(x_{0.5}, 1/2, 1/2)$. Thus (X, τ, τ^*) is not (r, s)- T_1 space.

Theorem 3.11. Every subspace of (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1) space is (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1) space.

Proof. Let (X, τ, τ^*) be (r, s)- T_1 space. Let $a_t, b_m \in P_t(A)$ such that $a_t \not\leq b_m$. Then, $a_t, b_m \in P_t(X)$ such that $a_t \not\leq b_m$. Since (X, τ, τ^*) is (r, s)- T_1 , there exists $\lambda \in Q(a_t, r, s)$ such that $b_m \overline{q} \lambda$. Since $\tau_A(i^{-1}(\lambda)) \geq \tau(\lambda) \geq r$ and $\tau_A^*(i^{-1}(\lambda)) \leq \tau^*(\lambda) \leq s$, we have $i^{-1}(\lambda) \in Q_{\tau|_A, \tau^*|_A}(a_t, r, s)$ such that $b_m \overline{q} i^{-1}(\lambda)$. The others are similarly proved.

We can prove the following theorem as a similar method as Theorem 3.11.

Theorem 3.12. Every IF homeomorphic space of (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1) space is (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1) space.

Theorem 3.13. Let $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ be a family of (r, s)-quasi T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1) space. Let (τ, τ^*) be the product IGO on $X = \prod_{i \in \Gamma} X_i$. Then (X, τ, τ^*) is (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1) space.

Proof. Let $x_t, y_m \in P_t(X)$ such that $x_t \not\leq y_m$. Then there exists $i \in \Gamma$ such that $(\pi_i(x))_t \not\leq (\pi_i(y))_m$. Since (X_i, τ_i, τ_i^*) is (r, s)- T_1 space, there exists $\lambda \in I^{X_i}$ such that

$$\lambda \in Q_{\tau_i,\tau_i^*}((\pi_i(x))_t, r, s), \quad (\pi_i(y))_m \overline{q}\lambda.$$
(3.11)

Since $\pi_i(x_t) = (\pi_i(x))_t q \lambda$ if and only if $x_t q \pi_i^{-1}(\lambda)$, we have

$$\pi_i^{-1}(\lambda) \in Q(x_t, r, s), \quad y_m \overline{q} \pi_i^{-1}(\lambda).$$
(3.12)

Therefore, (X, τ, τ^*) is (r, s)- T_1 space. The others are similarly proved.

Theorem 3.14. Let $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ be a family of IFTSs. Let (τ, τ^*) be the product IGO on $X = \prod_{i \in \Gamma} X_i$. If (X, τ, τ^*) is (r, s)-sub- T_0 space, then (X_i, τ_i, τ_i^*) is $(r - \epsilon, s + \epsilon)$ -sub- T_0 space for each $\epsilon > 0$ and for each $i \in \Gamma$.

Proof. Let $x^j, y^j \in X_j$ such that $x^j \neq y^j$. Then there exists $x^i \in X_i$ for all $i \in \Gamma - \{j\}$ such that $x \neq y \in X$ and

$$\pi_i(x) = \begin{cases} x^i & \text{if } i \in \Gamma - \{j\}, \\ x_j & \text{if } i = j, \end{cases} \qquad \pi_i(y) = \begin{cases} x^i & \text{if } i \in \Gamma - \{j\}, \\ y_j & \text{if } i = j. \end{cases}$$
(3.13)

Since (X, τ, τ^*) is (r, s)-sub- T_0 space, there exists $t \in (0, 1)$ such that

$$\rho \in Q(x_t, r, s), \quad y_t \overline{q} \rho. \tag{3.14}$$

Let (β, β^*) be a base for (τ, τ^*) . Since $\tau(\rho) \ge r$ and $\tau^*(\rho) \le s$, by Theorem 1.5, for e > 0, there exists a family $\{\rho_k \mid \rho = \bigvee_{k \in \Delta} \rho_k\}$ such that

$$\tau(\rho) \ge \bigwedge_{k \in \Delta} \beta(\rho_k) > r - \epsilon, \qquad \tau^*(\rho) \le \bigvee_{k \in \Delta} \beta^*(\rho_k) < s + \epsilon.$$
(3.15)

Since $x_t q[\rho = \bigvee_{k \in \Delta} \rho_k]$, there exists $k \in \Gamma$ such that $x_t q \rho_k$, $\beta(\rho_k) > r - \epsilon$ and $\beta^*(\rho_k) < s + \epsilon$. Then, there exists a family $\{\lambda_i \mid \rho_k = \bigwedge_{i \in F} \pi_i^{-1}(\lambda_i)\}$ which *F* is a finite subset of Γ such that

$$\beta(\rho_k) \ge \bigwedge_{i \in F} \tau_i(\lambda_i) > r - \epsilon, \qquad \beta^*(\rho_k) \le \bigvee_{i \in F} \tau_i^*(\lambda_i) < s + \epsilon.$$
(E)

Without loss of generality, we may assume $j \in F$ because we can take $F_1 = F \cup \{j\}$ such that $\lambda_j = \underline{1}, \tau_j(\underline{1}) = 1$, and $\tau_j^*(\underline{1}) = 0$, if necessary.

Since $x_t q \rho_k$ and $y_t \overline{q} \rho_k$,

$$t > \left[\bigvee_{i \in F - \{j\}} (\underline{1} - \lambda_i) (\pi_i(x))\right] \lor (\underline{1} - \lambda_j) (x^j), \tag{F}$$

$$t \leq \left[\bigvee_{i \in F - \{j\}} (\underline{1} - \lambda_i) (\pi_i(x))\right] \vee (\underline{1} - \lambda_j) (y^j).$$
(G)

If $(\bigvee_{i \in F - \{i\}} (\underline{1} - \lambda_i)(\pi_i(x)) \ge t$, it is a contradiction for (F) and (G). Thus

$$\bigvee_{i \in F - \{j\}} (\underline{1} - \lambda_i) (\pi_i(x)) < t.$$
(3.16)

It implies

$$t > (\underline{1} - \lambda_j)(x^j), \qquad t \le (\underline{1} - \lambda_j)(y^j). \tag{3.17}$$

Furthermore, by (E), we have $\tau_j(\lambda_j) > r - \epsilon$ and $\tau_j^*(\lambda_j) < s + \epsilon$. Hence,

$$\lambda_{j} \in Q_{\tau_{j},\tau_{j}^{*}}((x^{j})_{t}, r-\epsilon, s+\epsilon), \quad (y^{j})_{t}\overline{q}\lambda_{j}.$$

$$(3.18)$$

Thus, (X_j, τ_j, τ_j^*) is $(r - \epsilon, s + \epsilon)$ -sub- T_0 space.

In the above theorem, if (X, τ, τ^*) is (r, s)- T_1 (resp., (r, s)-quasi- T_0 and (r, s)- T_0), it is not true from the following example.

Example 3.15. Let $X = \{x\}$ and $Y = \{y\}$ be sets. Define IGO (τ_1, τ_1^*) on X as follows:

$$\tau_1(\lambda) = \begin{cases} 1 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ 0 & \text{otherwise,} \end{cases} \qquad \tau_1^*(\lambda) = \begin{cases} 0 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ 1 & \text{otherwise,} \end{cases}$$
(3.19)

and IGO (τ_2, τ_2^*) on *Y* as follows:

$$\tau_{2}(\lambda) = \begin{cases} 1 & \text{if } \lambda = \underline{0} \text{ or } \underline{1}, \\ \frac{1}{2} & \text{if } \lambda = y_{0.2}, \\ 0 & \text{otherwise}, \end{cases} \qquad \tau_{2}^{*}(\lambda) = \begin{cases} 0 & \text{if } \lambda = \underline{0} \text{ or } \underline{1}, \\ \frac{1}{2} & \text{if } \lambda = y_{0.2}, \\ 1 & \text{otherwise.} \end{cases}$$
(3.20)

Let $X \times Y = \{(x, y)\}$ be a product and $(\tau_1 \otimes \tau_2, \tau_1^* \otimes \tau_2^*)$ the product IGO on $X \times Y$. Since $(x, y)_{0,2} = \pi_1^{-1}(\underline{0.2}) = \pi_2^{-1}(y_{0,2})$, by Theorem 1.5, we have

$$(\tau_1 \bigotimes \tau_2)(\underline{0.2}) = \tau_1(\underline{0.2}) \lor \tau_2(y_{0.2}) = 1, \qquad (\tau_1^* \bigotimes \tau_2^*)(\underline{0.2}) = \tau_2(\underline{0.2}) \land \tau_2^*(y_{0.2}) = 0.$$
(3.21)

We can obtain the product IGO, $(\tau_1 \otimes \tau_2, \tau_1^* \otimes \tau_2^*)$ as follows:

$$\tau_{1} \bigotimes \tau_{2}(\lambda) = \begin{cases} 1 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ 0 & \text{otherwise,} \end{cases}$$

$$\tau_{1}^{*} \bigotimes \tau_{2}^{*}(\lambda) = \begin{cases} 0 & \text{if } \lambda = \underline{\alpha} \text{ for } \alpha \in I, \\ 1 & \text{otherwise.} \end{cases}$$
(3.22)

Then, $(X \times Y, \tau_1 \otimes \tau_2, \tau_1^* \otimes \tau_2^*)$ are (r, s)- T_1 , (r, s)- T_0 , and (r, s)-quasi- T_0 for all $r \in I_0$, $s \in I_1$. But (Y, τ_2, τ_2^*) is not (r, s)-quasi- T_0 for all $r \in I_0$, $s \in I_1$. Hence, it is neither (r, s)- T_0 nor (r, s)- T_1 for all $r \in I_0$, $s \in I_1$.

Theorem 3.16. Let $\{(X_i, \tau_i, \tau_i^*) \mid i \in \Gamma\}$ be a family of IFTSs and (τ, τ^*) be the product IGO on $X = \prod_{i \in \Gamma} X_i$. If (X, τ, τ^*) is (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1) and (X_j, τ_j, τ_j^*) is stratified for $j \in \Gamma$, then (X_j, τ_j, τ_j^*) is (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1).

Proof. Let (X, τ, τ^*) and $\tilde{X}_j = X_j \times \prod\{y^i \mid i \neq j\}$ of X parallel to X_j . Since $(\tilde{X}_j, \tau|_{\tilde{X}_j}, \tau^*|_{\tilde{X}_j})$ is a subspace of (X, τ, τ^*) , by Theorem 3.11, $(\tilde{X}_j, \tau|_{\tilde{X}_j}, \tau^*|_{\tilde{X}_j})$ is (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1). Since (X_j, τ_j, τ_j^*) is stratified, by Theorem 2.7, $\pi_j|_{\tilde{X}_j}$: $(\tilde{X}_j, \tau|_{\tilde{X}_j}, \tau^*|_{\tilde{X}_j}) \to (X_j, \tau_j, \tau_j^*)$ is IF homeomorphism. From Theorem 3.12, (X_j, τ_j, τ_j^*) is (r, s)-quasi- T_0 (resp., (r, s)-sub- T_0 , (r, s)- T_0 , and (r, s)- T_1).

Acknowledgment

The authors are very grateful to the referees for their valuable suggestions in rewriting the paper in the present form.

References

- [1] T. Kubiak, On fuzzy topologies, Ph.D. thesis, Adam Mickiewicz University, Poznan, Poland, 1985.
- [2] A. P. Šostak, "On a fuzzy topological structure," Supplemento ai Rendiconti del Circolo Matematico di Palermo, no. 11, pp. 89–103, 1985.
- [3] C. L. Chang, "Fuzzy topological spaces," Journal of Mathematical Analysis and Applications, vol. 24, no. 1, pp. 182–190, 1968.
- [4] A. P. Šostak, "Two decades of fuzzy topology: the main ideas, concepts and results," Russian Mathematical Surveys, vol. 44, no. 6, pp. 125–186, 1989.
- [5] A. P. Šostak, "Basic structures of fuzzy topology," Journal of Mathematical Sciences, vol. 78, no. 6, pp. 662–701, 1996.
- [6] K. C. Chattopadhyay, R. N. Hazra, and S. K. Samanta, "Gradation of openness: fuzzy topology," Fuzzy Sets and Systems, vol. 49, no. 2, pp. 237–242, 1992.
- [7] U. Höhle, "Upper semicontinuous fuzzy sets and applications," Journal of Mathematical Analysis and Applications, vol. 78, no. 2, pp. 659–673, 1980.
- [8] U. Höhle and A. Šostak, "A general theory of fuzzy topological spaces," *Fuzzy Sets and Systems*, vol. 73, no. 1, pp. 131–149, 1995.
- [9] U. Höhle and A. P. Šostak, "Axiomatic foundations of fixed-basis fuzzy topology," in *Mathematics of Fuzzy Sets*, vol. 3 of *The Handbooks of Fuzzy Sets Series*, pp. 123–272, Kluwer Academic Publishers, Boston, Mass, USA, 1999.
- [10] T. Kubiak and A. P. Šostak, "Lower set-valued fuzzy topologies," *Quaestiones Mathematicae*, vol. 20, no. 3, pp. 423–429, 1997.
- [11] K. T. Atanassov, "Intuitionistic fuzzy sets," Fuzzy Sets and Systems, vol. 20, no. 1, pp. 87–96, 1986.
- [12] D. Çoker, "An introduction to intuitionistic fuzzy topological spaces," Fuzzy Sets and Systems, vol. 88, no. 1, pp. 81–89, 1997.
- [13] D. Çoker and M. Dimirci, "An introduction to intuitionistic fuzzy topological spaces in Šostak sense," BUSEFAL, vol. 67, pp. 67–76, 1996.
- [14] T. K. Mondal and S. K. Samanta, "On intuitionistic gradation of openness," Fuzzy Sets and Systems, vol. 131, no. 3, pp. 323–336, 2002.
- [15] S. E. Abbas, "(R, S)-generalized intuitionistic fuzzy closed sets," Journal of the Egyptian Mathematical Society, vol. 14, no. 2, pp. 283–297, 2006.
- [16] S. E. Abbas and H. Aygün, "Intuitionistic fuzzy semiregularization spaces," *Information Sciences*, vol. 176, no. 6, pp. 745–757, 2006.
- [17] Y. C. Kim and J. W. Park, "Some properties of product smooth fuzzy topological spaces," Journal of Fuzzy Logic and Intelligent Systems, vol. 9, no. 6, pp. 615–620, 1999.